resulted in cyclist casualties

5 years of categorised accidents that

Sam Longman (LB Camden)

Start:
End:

31Jan 2014

01 Aug 08
31 Jul 09

01 Aug 09
31Jul 10

01 Aug 10
31Jul 11

01 Aug 11
31Jul 12

01 Aug 12
31Jul 13

Cat Description

1 Hit open/opening door of parked car 132 10% 13 6% 22 9% 30 10% 33 11% 34 12%
2 Left Hook 135 10% 31 15% 23 10% 28 10% 24 8% 29 10%
3 Right hook 43 3% 2 1% 4 2% 11 4% 15 5% 11 4%
4  Right turn across cyclist path 224 17% 43 20% 38 16% 54 19% 46 15% 43 15%
5 Cut up to left 173 13% 32 15% 24 10% 42 15% 41 13% 34 12%
6 Cut up to right 23 2% 10 5% 2 1% 5 2% 4 1% 2 1%
7  Vehicle pulled out into cyclist path 129 10% 19 9% 27 12% 26 9% 26 8% 31 11%
8  Cyclist pulled out into vehicles path 98 7% 20 9% 29 12% 21 7% 14 4% 14 5%
9 Moved off from parked into cyclist path 15 1% 0 0% 0 0% 1 0% 11 4% 3 1%
10 Rear shunted the cyclist 83 6% 6 3% 17 7% 11 4% 26 8% 23 8%
11 Cycled into the back of vehicle 59 4% 9 4% 9 4% 9 3% 12 4% 20 7%
12 Cyclist Lost Control 63 5% 6 3% 13 6% 16 6% 13 4% 15 5%
13 Cyclist jumped red light 29 2% 2 1% 3 1% 8 3% 9 3% 7 2%
14  Vehicle jumped red light 5 <1% 1 <1% 1 <1% 1 <1% 2 1% 0 <1%
15  Hit pedestrian 39 3% 5 2% 5 2% 5 2% 11 4% 13 4%
16  Other 89 7% 12 6% 17 7% 20 7% 26 8% 14 5%
1339 100% | 211 100% 234 100% 288 100% 313 100% 293 100%



1 - Hit open/opening door of parked car (132)
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Accidents are plotted are assigned to a 10m grid, which is
how Camden receives the data. Numbers are shown inside
the circles to indicate how many accidents occurred in each
exact location. For clusters of accidents, you need to zoom
in to count the number in that cluster. Sometimes they
can be very close making it difficult, but it is still possible to

count the number. e.g. if you see a couple of 1’sand a 3,
that means there are 5 accidents in that cluster.
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2 - Left Hook (135)
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Accidents are plotted are assigned to a 10m grid, which is 5 ® ® ® o ® ;’
. .
how Camden receives the data. Numbers are shown inside ""’:. ... a ® Nl
the circles to indicate how many accidents occurred in each . ¥ ¢ 1
; X S °
exact location. For clusters of accidents, you need to zoom \? * o e .'\‘
.
in to count the number in that cluster. Sometimes they RN ¢ T L P
can be very close making it difficult, but it is still possible to ";,.* © 5
count the number. e.g. if you see a couple of 1’sand a 3, . r O 2N
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that means there are 5 accidents in that cluster. 3
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3 - Right Hook (43)
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count the number. e.g. if you see a couple of 1’sand a 3, ".
that means there are 5 accidents in that cluster. '\
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4 - Right turn across cyclist path (224)
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.
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count the number. e.g. if you see a couple of 1’sand a 3,
that means there are 5 accidents in that cluster.
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5 - Cut up to left (173)
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Accidents are plotted are assigned to a 10m grid, which is
how Camden receives the data. Numbers are shown inside
the circles to indicate how many accidents occurred in each
exact location. For clusters of accidents, you need to zoom
in to count the number in that cluster. Sometimes they
can be very close making it difficult, but it is still possible to

count the number. e.g. if you see a couple of 1’sand a 3,
that means there are 5 accidents in that cluster.
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6 - Cut up to right (23)
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Accidents are plotted are assigned to a 10m grid, which is
how Camden receives the data. Numbers are shown inside
the circles to indicate how many accidents occurred in each
exact location. For clusters of accidents, you need to zoom
in to count the number in that cluster. Sometimes they
can be very close making it difficult, but it is still possible to

count the number. e.g. if you see a couple of 1’sand a 3,
that means there are 5 accidents in that cluster.
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7 - Vehicle pulled out into cyclist path (129)
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Accidents are plotted are assigned to a 10m grid, which is
how Camden receives the data. Numbers are shown inside
the circles to indicate how many accidents occurred in each
exact location. For clusters of accidents, you need to zoom
in to count the number in that cluster. Sometimes they
can be very close making it difficult, but it is still possible to

count the number. e.g. if you see a couple of 1’sand a 3,
that means there are 5 accidents in that cluster.
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8 - Cyclist pulled out into vehicles path (98)
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9 - Moved off from parked into cyclist path (15)
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Accidents are plotted are assigned to a 10m grid, which is

how Camden receives the data. Numbers are shown inside
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10 - Rear shunted the cyclist (83)
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11 - Cycled into the back of vehicle (59)
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12 - Cyclist Lost Control (63)
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Accidents are plotted are assigned to a 10m grid, which is
how Camden receives the data. Numbers are shown inside
the circles to indicate how many accidents occurred in each
exact location. For clusters of accidents, you need to zoom
in to count the number in that cluster. Sometimes they
can be very close making it difficult, but it is still possible to

count the number. e.g. if you see a couple of 1’s and a 3,
that means there are 5 accidents in that cluster.
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etc... Basically anything where
the cyclist lost control (which
includes taking a turn too
wide) and no other vehicles or
pedestrian contributed to
causing the crash (the cyclist
may of still hit a vehicle, but as

a result of the cyclist losing
control).



13 - Cyclist jumped red light (29)
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Accidents are plotted are assigned to a 10m grid, which is
how Camden receives the data. Numbers are shown inside
the circles to indicate how many accidents occurred in each
exact location. For clusters of accidents, you need to zoom
in to count the number in that cluster. Sometimes they
can be very close making it difficult, but it is still possible to

count the number. e.g. if you see a couple of 1’s and a 3,
that means there are 5 accidents in that cluster.
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Any movements where the

cyclist jumped a red light.



14 - Vehicle jumped red light (5)
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Accidents are plotted are assigned to a 10m grid, which is
how Camden receives the data. Numbers are shown inside
the circles to indicate how many accidents occurred in each
exact location. For clusters of accidents, you need to zoom
in to count the number in that cluster. Sometimes they
can be very close making it difficult, but it is still possible to

count the number. e.g. if you see a couple of 1’s and a 3,
that means there are 5 accidents in that cluster.
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Any movements where the

vehicle jumped a red light.



15 - Hit pedestrian (39)
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count the number. e.g. if you see a couple of 1’s and a 3,
that means there are 5 accidents in that cluster.
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Accidents are plotted are assigned to a 10m grid, which is

how Camden receives the data. Numbers are shown inside
the circles to indicate how many accidents occurred in each
exact location. For clusters of accidents, you need to zoom
in to count the number in that cluster. Sometimes they
can be very close making it difficult, but it is still possible to

count the number. e.g. if you see a couple of 1’s and a 3,
that means there are 5 accidents in that cluster.
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Anything else that doesn't
fit into the above
categories or it is unclear

from the data what

happened.



